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Topic:- Fundamentals of Computers

1) Which of the network topology satisfies the following given statements?

Each computer is connected to a hub.

The hub is the signal repeater.

It is the most common topology in home and office networks.
The failure of the hub causes the entire network to collapse.
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1. Ring/ﬁ"T
2. Star / IR
3. Mesh / HYI

4, Bus /&Y

Correct Answer :-

e Star /¥R

2) Centralised computers which is used for running major applications like financial transaction,
processing and enterprise resource planning in large business organisations are: / a% MRS JRITAT

# faita siaron, fraraa= iR shenfire Txrest &t aie & fRmtor 9 weeayuf w4t & fag
W T IR B 8

1. Special purpose computers / fafdy 3%?21 CIS| W



2. Mainframe computers / %Y HHXR

3. Supercomputers / U HEEY
4. Hybrid computers / 613@3 W

Correct Answer :-

« Mainframe computers / o6 HHXR

3) Which of the layers of OSI Reference model is NOT present as a separate layer in the TCP/IP
Reference model for communication networks? / HdR Ac¢d®d & %'E TCP/IP YB3 HISA H OSI YB3
HISH BT P A VR TH 3T WR & U § YgiRid 78] gid1 82

1. Network / icad

2. Transport / ‘g'mth"c‘

3. Session / YR

4. Application / [ CRE]

Correct Answer :-

« Session / A

4) How will binary number 111111 be represented in decimal, hex and octal formats? | fPaTeR

IS AT 111111 B A, 39 3R 3ifaed A A= forar smeme
1. 62; 4F; 57
2. 63; 3F; 77
3. 65; SF; 87

4. 64; 2F; 67

Correct Answer :-

e 63;3F;77

5) In 8-bit ASCII, what is the number of values that ASCII has the ability to store? / 8-f3e Asci ﬁ,

ASCII §RT AT &} fpa-il eI 3 TR B B &t gidl 82
1.255
2. 127
3. 256

4. 128



Correct Answer :-

6) Machine language is also called as: / = U9 $Y g 1| el SIldl %:
1. High level programming language / 3= TR TTIET TS

2. First generation language / U4H SRR YIS

3. Opcode / KIPEAK

4. Compiler / STHY P

Correct Answer :-

« First generation language / UYH SRR YIS

7) The scheduling algorithm where the CPU executes the process for a specific time slice or time
quantum is called 98 sy eanfyed Sgt cpu foredt yare wwa | fonedt v gron
awaﬁw%msﬁrmaﬁmmmm% Fgarargl

1. Shortest Job First Scheduling Algorithm / e Sig B lﬁsqi%m Qﬁﬂﬁm

2. Round Robin Scheduling Algorithm / RRERICE] ﬁ?ﬂ;ﬁm ﬁ?ﬂﬁm

3. Priority Scheduling Algorithm / l;nsiﬂﬁ‘c‘l ﬁtﬂ%ﬂ ﬁ?ﬂﬁm

4. First Come First Served Scheduling Algorithm / B HH B ﬂ?St, ﬁ?ﬁﬂ%ﬂ’[ Qﬁﬂﬁm

Correct Answer :-

« Round Robin Scheduling Algorithm / I3S e "«ﬁ?ﬂﬁm U

8) A high speed memory location for holding intermediate results produced by Arithmetic and Logic

Units in a processor is called /wuﬁwﬁ arfafes aﬁ?aﬁﬁqﬁtmm
Hmﬁumﬁwﬁﬂ?mm@gﬁﬁﬂ?ﬁw S gl

1. Memory Buffer Register / AR TR RfoTeR
2. Memory Data Register / TART ST IR

3. Accumulator / QW?T

4. Program Counter / TR BT

Correct Answer :-

e Accumulator / W@a



9) Internal process memory is characterised by: / 3?7‘?[ T AHRT Bt ﬁ'ﬂw %

1. Low cost, high speed and high capacity / g «rTd, 3= fd 3R I &

2. Low cost, slow speed and high capacity / ®H <iTd, eftft ey SR I= ey

3. Medium cost, medium speed and medium capacity / H&HH ITd, HHUH T 3R Y &

4. High cost, high speed and low capacity / 3= ¢Il¥Td, 3= Ty 3R A% e

Correct Answer :-

« High cost, high speed and low capacity / 3 ART, 3 Tfd 3R g e

10) PDP-8 belongs to which one of the following generation of computers? / PDP-8, FYCY ¥ fou

SRR ¥ 9w 82

1. Third generation / ?Fﬂ'q SRR

2. Mechanical generation / TifA® SRR
3. Second generation / fgdg SFRRM

4. First generation / YYH SRR

Correct Answer :-

« Second generation / fgdTd SFRRM

11) An example of a utility software is: / '{Iﬁ'ﬁl’(ﬁ AT AUR BT Th 3qlerul %:
1. Assembler / BISTRD

2. Disk Defragmenter / few fethmieR

3. Windows 7 /ﬁ@\_ﬂ 7

4. n-Vidia Graphics Driver / Q:T—?ﬂ'%'cﬂ Tth SIEER

Correct Answer :-

 Disk Defragmenter / few fethmieR

12) is a unidirectional bus that is used for transferring memory locations from processor

to memory. / meémmmﬁmaﬁmﬁﬁtﬁﬁﬁ
RIFIARYT & forg fsar wmar g1

1. Control bus / m oY

2. Information bus / thﬁﬁ‘ﬂ:l dy



3. Data bus / S¢T &9

4. Address bus / Qgﬂ ERS

Correct Answer :-

e Address bus/ @ﬂ Ryl

13) Malware that threatens to publish sensitive data and/or blocks access to the system until money is

paidiscalled ./ ATEAWR, Gﬁ%mwﬁﬁmwﬂ?mﬁmm TID Sl Bl
Wmﬁarwmaﬁ%wmﬁaamﬁaﬂmwﬁhmw% _ Pgargl
1. Worm/aﬁ

2. Trojan Horse / IO B9
3. Ransomware / W

4. Virus / dIgY

Correct Answer :-

e Ransomware / W

14) Storage systems that use Curie temperature for phase transition of magnetic to paramagnetic

material for recording data are called ./ e e ot ST Reid w31 & g ﬂ'ﬁﬂ'ﬂ'ﬂ
%aﬁﬁwmﬂwﬁﬁmﬂww%mmamﬂmmw% Pgard
I

1. Solid state storage devices / 3 Rl & RSl %?ﬂ%ﬂ
2. Magnetic disks / Wﬂ 5552

3. Magneto-optical disks / W—W 5552

4. Optical disks / UhTRIY feth

Correct Answer :-

» Magneto-optical disks / W—W s

15) The problem of unused and unallocated memory blocks which are too small and not
contiguous to accommodate a segment can be resolved by dividing memory into blocks of

equal size is called | AT YT FATATDCS AU & gh sl Bt TH=T BT
TUTYT, m‘r%agasﬁ%%ﬁvﬁﬁaw@m%uﬁwq—g&% AAR} B UM ATHR & ghsl A
fauira s& far s g 7, g8 ufbar Hear g

1. Memory paging / AR afoi
2. Memory swapping / AR Wt



3. Memory partition / AR fayrsH
4. Memory fragmentation / TR iR

Correct Answer :-

e Memory paging / TR afoi

Topic:- Operating System

1) In Windows 7 (and above), what are the long running executable applications that operate in the
background in their own Windows sessions, which can be automatically started when the computer boots,

paused and restarted and do not show any User Interface? / fdsiwr 7 (s?rﬁ? sﬂﬁwaﬁﬁ@mﬁ,%
DI T TS UG T I B3 a1 TS B aTdl Tl bR € ol 31U+ W & fdsie axig o
AFUES | SATIRT HI € Sl FFYER & g 81, UTel 811 1 Rere 811 & T3y, Wad: Wi 81 o &
3R BT YR SeXH Y a1 UGiid Hd 82

1. Resource Monitor / ﬁ@ﬁ IIHEIEQ
2. Services / m\_ﬂ

3. Task Manager / CI¥h AR

4. User Account Manager / guIR HTIC ASR

Correct Answer :-

e Services / m\_ﬂ

2) In Windows 7, what is the rich text editor that comes as one of the ‘Windows accessories’ tool where

you can format and print text? /ﬁ:‘ﬁ_\;{ 7 ﬁ, ﬁ@w@ﬂwﬁmﬁaﬁwmmﬁ?
1 8 forad gRT 3TU TRe $ Wide a1 fiic H I&d 32

1. MS Word / THUY-dS

2. Notepad++/ AU ++
3. Notepad/:i cUs
4. WordPad / JSUS

Correct Answer :-

e WordPad / aéﬁ‘s’

3) In Windows OS, how do you change the resolution of the display? /ﬁ—eﬁﬁ-&ﬁw H, 3y f&vat &

Reiege= &1 4 Fea?



Right click Desktop

= 5Select Display Settings

= (Change Resolution

| $hed W IBe s wE
> fSTcer dfear 1 delge i

> ReTegere aRafdd aar

Select Task Manager

= Select Display Settings
= Change Resolution

| T ool & doide o
> Bl A Telge =T
> Seges afafda &

Select Device Manager

= Select Display Settings
= Change Resolution

| fBasd #FeR &1 99T ol
> fSeeer ffear derae aar

> Retegee aRafda &



Right click clock symbol in icon tray

=2 Select Display Settings

=2 Change Resolution

| 3sHIA & A veRia g8 1 WA R ST Felh h
> Secel Afear o1 delge HLen

> Reilegee aRafdd axen

4.

Correct Answer :-
Right click Desktop
=2 Select Display Settings
= (Change Resolution
/| SEhed W (B fFes Sk
> f3¥cer Afcar ot elde e
> Rtegee aRafdd axar

4) In Windows OS (version 7 and above), which option gives the ability to use assistive technologles to
enable people with disabilities to interact with the system and perform regular computing tasks? /

3T (@t 7 3R ST a1e) &, FI 1 fey Wi Ve doNd HTd HI B &mar a1 2, A
faiv o1 B RiRed | gevae o a4 dex W Fafia & d &0 31 § e a1t 82

1. Network Firewall / :ICOIG‘I.O l:I’>I¢ROI\IJQ'1

2. Windows Defender / fd8Iol f&thax
3. Ease of Access Center / Wm e

4. User Account Control / gURR 3{hT3C c'bg\lc'l

Correct Answer :-

» Ease of Access Center / {TH TR I



5) Which one of the following special variables in Linux indicates the number of arguments supplied to a

seript? / AT W ag 1 a1 ARy afvwaa @) g o felt fBpe o awrs fee e smdde ot

ST Y eI 8
1. 50
2. $*
3.$8

4, $#

Correct Answer :-

6) Which of the following is NOT a default folder in Windows OS 7? / ﬁ'eﬁ\—:r-sﬁw 7 ﬁ, A s+
1 U fEwiee Wies el glar 82

1. Trash/éQT
2. Downloads / SIB:W“SFI
3. Desktop / Sl

4. My Documents / IIT_‘.ic 3@?

Correct Answer :-

o Trash/ E'QT

7) What is the first process that the computer undergoes when booting? /qﬁ"T & 9y PR o ufeq

B arelt ugeh ufthar w82

1. Kernel Loading process / FHd AlrST ufehar

2. Power On Self-Test (POST) / GTaR 3{i-] Yeh-c (URT)
3. Start-up Process / wTe-319 Ufshar

4. Logon Process / Q1N 3{1 Ufehd

Correct Answer :-

« Power On Self-Test (POST) / UIaR 311 Teth-c¥ (URC)

8) In Linux — Bash, which operator is used to join the standard output of the first command to the
standard input of the second command? / o - sw ﬁ, q?ﬁ PHIS PILSS 33cYc, §'\‘I'\& PHIS
¥ Wss 37Yc A wiieq & e for SiTuRe” &1 SuaiT giar 32



1. #
2.
3.8

4. %

Correct Answer :-

9) In Linux — Bash,which command sends a signal (software interrupt) to processes? /- dwr ®

P I TS uftharsil #) e R (@ ddR sevw) Weidl 82

1. “interrupt’

2. *kill’

3. ‘proc’

4. ‘signal’

Correct Answer :-

. il

10) In MS-DOS, what does the command XCOPY do? / MS-DOS H ®HIS XCOPY &1 HTd F4T 82

1. Copies multiple files, directories, or drives from one location to another. / ﬁ tb‘l%?‘ﬁ, ﬁ%ﬂff HYdl Cfﬂ%ﬁﬁ
DI Uh 1Y Uh SHTE Y GO S8 UR DUt BT

2. Cuts the files from one folder and pastes it to another. / Tl i T Wwigd P HE PP QFRH SR U
DA

3. It is the command used to copy admin files. /WWWH%WW%W U dd Eﬁef arelt HHIS
gl

4. Clears the files in the destination folder and pastes the copied files or folders. / SReATA BieR I LIELSS!
DI BCIHR BIU! I T WISdl 3dl Blesl bl UgI U BT

Correct Answer :-

» Copies multiple files, directories, or drives from one location to another. / ﬁ tﬂgﬁ, ﬁﬁﬂ:ﬁ YAl @m
DI Uh 1Y U SHIE Y GO S8 TR DUt BT

11) In MS DOS, which of the following is used to display the contents of a text file? / MS-DOS ﬁ:, TP

TRE Brgd & ATt &) UelRid #3 & fore A A I frae Sy gar g2

1. TYPE / CIgU



2. HELP /B
3. DISPLAY / feo=t

4. READ /3

Correct Answer :-

« TYPE/CISU

12) is a type of operating system that guarantees a certain capability within a specified

time constraint or deadline, i.e., the OS is designed to respond accurately in a timely manner. /

wwm%ﬁm%ﬁﬁﬁwwwﬁum%%%ﬁ%
gggaﬁnﬂzﬁ%m%,mﬁ%ﬁmmaﬂ%ﬁqﬁwwﬁmﬁmﬁ%ﬁm%
I

1. Batch Operating System / I ITRfET Rew

2. Network Operating System / Jeads TORfeT Riew

3. Interactive Operating System / m JHTRIT Riewt
4. Real-time Operating System / od-crgw ST Red

Correct Answer :-

» Real-time Operating System / Rgd-ergq SR Rew

13) A locking mechanism that allows multiple program threads to share the same resource, such as file

access, but not simultaneously is called ./dg AlfpT ﬁ%ﬁﬁq S [P Eﬂ"JITq QT“.-?[ G|
UM 1Y 9 & wIgd TRy UeH oidT 8, Afh< U 1Y T8, CaASIGIE]

1. Semaphore / AR

2. Mutex / @W

3. Race condition / X &8 IR
4. Deadlock / SSQl

Correct Answer :-

« Mutex / TR

14) In MS-DOS, contains the default MS-DOS device drivers and the DOS
initialisation program. / MS-DOS H, f¥WTee Ms-DOs f&arsH 3R 3R pOS sHRMEERRE Thm
AfaRaga g

1. MSDOS.SYS



2. COMMAND.COM
3. IOS.SYS

4. CONFIG.SYS

Correct Answer :-
e JOS.SYS

15) In the Linux distribution structure, which directory is specific to each user and contains
log, lock, spool, mail and temp files? / fF®T @1 faaur T §, U@ YoR 9 ISt 98 fafkw gt
(STREY) P 3t g o @i, dfe, Ta, A 3R T Bisd WA gidl 82

1. Jetc/
2. /bin/
3. /log/

4, /var/

Correct Answer :-
e /var/

Topic:- Application Program

1) In MS Word (all versions), what is the shortcut key used to copy and paste formatting from text (i.e.

copy font type, size, colour, etc.)? /Q'Flwaé m‘ﬁ’ravh) ﬁ, ot dRe @ WAl (ﬁﬁ- ﬁ, TIUE BT
STHT, THR 3R T FATME) B U 7 W HIA F g B W AidPpe-a1 ST U forar S 82

1. Ctrl+C; Ctrl+V
2. Ctrl+Shift+C; Ctrl+Shift+V
3. Shift+C; Shift+V

4. Alt+C; Alt+V

Correct Answer :-

e Ctrl+Shift+C; Ctrl+Shift+V

2) Which of the following is NOT available in the ‘Text’ Group of ‘Insert’ Tab in MS Word (version 2007
onward)? / THU TS (2007 3N ISP 9I¢ & goi-) |, I70¢ o & TR Ju | 9 & A 71 Suais
81 graT 82

1. “WordArt> with Layout options / T 3T3¢ fddhed & TqTY g3



2. ‘Textbox’ to control position of a block of text / i o CRE P QISR b =0 %ﬂ CRCHIRT

3. Title Entrance ‘Animation’ effects / ‘c’l‘{i?ﬁ@?r ‘Q:ﬂﬂ"\"l:f’ s'eb_cﬁr
4. ‘Quick parts’ to store and re-use content / Hec b USRI 3R Q:[:—U'Cn'r[ & 1%‘]? fHep U

Correct Answer :-

« Title Entrance ‘Animation’ effects / ‘c’l‘{i%ﬁ@?r ‘Q:ﬂﬂ'-‘ﬂ:f’ gﬁ%ﬁr

3) Which one of the options is available for creating Headers in MS Word (version 2007 onwards)? /

g:ﬁgaé(zommmm&mﬁ%wmw*mﬁaﬁﬁﬁqwﬁwm

1. Different headers for odd and even pages / JH 3R faww qg‘r & foTY SferT-3reT gex

2. Different headers for different MS Word views / 3[@-3T UHR & THIg as 3‘1% f%l'q 3T %@ﬁ
3. Fade In/Out transitions for headers / %Sﬁ & ﬁ‘I'Q v xS 2/3I3C Q'I\lrl"\"ﬁ

4. Animated headers / Qﬁ'ﬁ%‘s’ %@'R

Correct Answer :-

« Different headers for odd and even pages / dH 3R faww Q'@f & forT SrerT-3aT SR

4) Which one of the following options is NOT available in the ‘Paragraph’ group of the ‘Home’ tab in
MS Word (version 2007 onwards)? / THETH CES (2007 ol YT SHP dlq) & ‘3-11:[’ TP W qu
# o o @ o1 a1 faoed Suarsy =81 grar 82

1. Pictures and Shapes / ﬁTﬁRQa EliEs|

2. Create Table / QTfeTanT & fHTOT

3. Create bulleted list / §oic s feRe &7 AT

4. Line and Paragraph spacing / ¢llg 3R TREME WRAT

Correct Answer :-

 Pictures and Shapes / fUFeR T ;I

5) Which one of the following features is present in MS Word (version 2007 onwards)? AeckE:kan

T TP IR THEY- 98 (@9l 2007 3R IS 916) § UTIT SITdT 82

1. Compare two versions of a word document / fd=g1 &l a3 Wﬁ Cdl NEICEGI
2. Create pivot charts / fOge = o1 fAmio

3. Create transitions / @'%IQT:T &1 famo



4. Store indexed data / FIgG SCI DI LR HAT

Correct Answer :-

« Compare two versions of a word document / fh=g1 K] @@Iﬁ?ﬂ Gl qIAT bRl

6) Special effects like Fade In, Fly In, Expand, Grow and Turn are examples of: /%S e, tI?I'I?g" ER

TRIUS, W YT & S WRa 3%hae (=1 T 3T &
1. Exit effect / TSI 3thdc

2. Motion path / HIZH T1Y

3. Emphasis effect / TRH R Sthac

4. Entrance effect / Tod Shac

Correct Answer :-

« Entrance effect / @q E'a’i_clf

7) Which function gives the count of cells within a range which meets particular criterion MS Excel? /

THTH TS |, $19 91 hawH frd faRiy Sexa 9 FRuffva S 9t wen < gamars?
1. COUNTIF / BT3C3h
2. COUNT / BT3¢

3. INDEX / S

4. MODE / 9IS

Correct Answer :-

« COUNTIF / HI3csh

8) Which feature makes the PivotTable interactive? / Ak AT BIR fae oqd Bl 3?3'% CEIGH %?
1. They can be printed with the interactive controls / 33 gﬁ%ﬁ &@?\E{ & 1y flic fopar o Iadn %

2. Mail Merge option can be used on the data / ST R T Aol BT fadhed SUTNT foban o Tehall 8

3. Columns and rows can be filtered, sorted and analysed / PHIHI TUT Ui DI W, i gy EINIES!
foran o gaar §

4. Data can be dynamically added to the table / ST P g T ¥ drferds H i foam S adbar %

Correct Answer :-

» Columns and rows can be filtered, sorted and analysed / HIAH! qUT Ul I ﬁﬂ?, Jic gy EINIER
o o gepar 8



9) Which view allows the user to find where Page breaks will occur in MS Excel? / THZH Qﬂ@ﬁ s | STgl

U 9% §1d1 8, 38 UM § I 91 of o & o FeTa® gar a2
1. Print Preview/ fiic t-og

2. Print Layout/ flie T3m3e

3. Normal View/ ITHd &

4. Page Break View/ UST 5@ &

Correct Answer :-

» Page Break View/ PEECD g

10) Which one of the following statements is TRUE for ‘Define Names’ feature in MS Excel? / THTH

TR H Regaaw R gdd s aTsEIae?

1. It maintains names of cell ranges or features within the scope of a worksheet or workbook. / Ug ERESICY

=T 1 Qe @) aeheiie 3raT adh e P WhIu B 3idTid SFRIE BT 8

2. It maintains all titles and names across the workbook. / Ug W & gt 2Rt SR A Bt &ﬂ?ﬁ‘fa
HATE

3. It maintains title names of all worksheets. / G+ TNl P XMeep! o AT DI GI:\J,TE‘IH hdl %

4. It maintains a list of names of all charts and graphs. / gt Aref 3R Ut & AT b ﬁ?ﬁ Eal G'I_fRfE‘IH Pl

Correct Answer :-

It maintains names of cell ranges or features within the scope of a worksheet or workbook. / g T ISl &b

T g7 faRerel &1 aeheiic srdl g P WU B St SFRIE Bl 8

11) Which one of the following statement is TRUE about Print feature in MS Excel (version 2007

;%v%rds)?/wmﬁ(zom AR IGH ¢ & aui) P e PR FP IR AT A A P TTHYT

1. Print area cannot be restricted to specific table or cell range only; the entire page will be displayed. / fiie

TR &1 Fad afkre 2o a1 a I I ifta T} foran ST b 8, )1 O UefRid ghm|

2. Row and column headings cannot be turned OFF for display and printing. / fea SR fiifen & forq dfda
3R PIH! B it I T It 5! fobaT ST Fhal |

3. If an excel sheet spreads beyond the margins of a page, the print cannot be made to fit to one page. / gfq

TS Tie T TR UST & Ao & SUTeT 81 SiTdT 8, o fife Te O IR =g 3mum|

4. A printout of an excel sheet with no data will not print the gridlines, even if Show Gridlines while Printing

option is checked. /WW@HWWW%Wﬁm lﬁﬁfﬂ'@ﬁ'@?ﬁ,ww%aﬁlﬁ



T8t afe << Drears~g wgd fiiféT e &1 Iua fear T g |

Correct Answer :-

» A printout of an excel sheet with no data will not print the gridlines, even if Show Gridlines while Printing

option is checked./ﬁ%@ﬂﬁﬁ@ﬂ?ﬁf%ﬁ?ﬁm ﬁﬁ?ﬁ?ﬁ"ﬂ,ﬁ%ﬁ?ﬂalﬁ
Tl afe o rsars~ wsd fiifer fawe o1 IuanT fear m g |

12) Which one of the following indents is used in MS Word (all versions)? / THZH CE) ™ ft aﬁT{) s

59 UPR & 3o FTIWNT gIaT 82
1. Top Indent / ﬁqE%'_C'

2. Hanging Indent / % i 3%?

3. Bottom Indent / STcH 3’%?
4. Split Indent / &t se=c

Correct Answer :-

e Hanging Indent / %.i'l:I 3%?

13) Which of the following is defined as a ‘Start Condition’ for an animation in MS PowerPoint? /

THTY UTaRuise | e # & frd TiiRE & g et sdivmr & wu § Rt foar siman 82
1. Criteria / SPTSCIRA

2. Event / 3d¢

3. Rule / &

4. Trigger / IEA‘R

Correct Answer :-

o Trigger/ IE\‘I?

14) Which of the following statement is TRUE forHeaders and Footers in MS Excel (version 2007

;%v%rds)?/@wmﬂ(zom 3R 91 F Toi) 7, 38H ofR Fed F IR A g A A 1= a1 fliwew

1. All pages can have only the same header and footer. / ot Q@T W USHHT TR 3R hR HREES %I

2. Headers and Footers have 3 sections each, i.e., left, center and right. / %sé GhT l-jgc'{-lr A ude | o Y,

3ryfd- ST, iy SR I, B § |
3. Headers and Footers appear in all Excel Views. / EEREEIN W Td & Uddh a]\f[ &RIMT o 9hd g



4. Headers and Footers can be retrieved only from a table in a worksheet of the Excel document. / YoRT¢T

Siagic & ah e H, 3¢ 3R e bad dlfee! ¥ I: U T o Iad 7|

Correct Answer :-

e Headers angl Footers have 3 §ections each, i.e., left, center and right. / %Eﬁ 3R Ug?ﬁf[ AP A o YT,
3ryfa- amat, Bty 3R aEr, e B

15) Which of the following is TRUE about Header and Footer option in MS PowerPoint? / THIH

JiaRuisc A IR IR PR v F IR AT A A s T HY I 82

1. Headers and Footers can be different in odd and even pages of the PowerPoint. / EI'VIHTCIVBT’.' 'Ef qH GﬁT faum
U8! R 38R 3R e - 81 9&d 5|

2. It does not have a built-in feature for Header. / Eﬂﬁ %?:T & 1%111 ﬁ_sc %E’-sq iR IUAs :@3[ Eﬁ?ﬂ % I
3. It does not have built-in feature for Footer. / sﬂﬁ Pk & ﬁ‘m ﬁ'é ﬁ?ﬂ-s:f iR IUas :@)[ %’IT‘IT % [

4. It does not have option for Header and Footer in the notes and handout page. / :hEE 3R %331@3 U5 o

TS IR B FT FIS ey T gl &

Correct Answer :-

NC e

e It does not have a built-in feature for Header. /gﬂﬁ %SQ a'ﬂ%fq D[S Tdec-gd l:I’;\It{‘{ dqﬂoﬂﬁ G\Idl %l

16) What is a PowerPoint picture presentation? / 'CIV'IHTCIV'IEE' iR UeierE & %?
1. It is another name for a slide show. / g ¥ S Wb Udh HY AH %I

2. It is Microsoft’s PowerPoint version for MacOS. / T8 Hb3TH & 7T ATSHhIGTUC UlaRuISe & Udh doi
2

3. It is a PowerPoint presentation format that is used to display personal or business photographs like a photo

album. / T8 U UTaRUTSC USICRM BT BIHE § ST SUINT AfFRTd 31Ul SUTUR Tt HleuTh] &
TesH o1 Yifd Uehia fear srar g |

4. Tt is an Open Source version of presentation software. / Ug U9IC R TIUCaR ol Udh 34 @ﬁa\_rh %I

Correct Answer :-

» Itis a PowerPoint presentation format that is used to display personal or business photographs like a photo

album. / T8 U UIaRUTSC USICRM BT BIHE § ST SUINT AfFRTd 31Ul SUTUR a2t Hleurh] &
TesH o1 Hifd ueiia fear srar g |

17) What is the function of Proofing feature of MS Word (version 2007 onwards)? / THTH CES (2007 3R

IS 91 & qoi) | YT WieR &1 w1 w1 g 82
1. To correct grammatical errors and spelling mistakes / It 3R AT O TTafaal ol QY PRl



2. To write comments for the author to review / TRA® b ﬁm et Wy fewult forgar
3. To translate to specific language / fopait fafery o & Sdlq
4. To protect the document from certain users/readers / 3<J faa q\\—:l?/ilsq 3 GTT:RIJ?IE DI qRé&f

Correct Answer :-

» To correct grammatical errors and spelling mistakes / It 3R TR O Tt Y GX PRl

18) What is the best data summarization tool to condense large datasets of sales data and provide an
informative summary of regional comparisons between brand sales in MS Excel (version 2007 onwards)?

/ THTH T (2007 3R IS 91¢ & quil) H, UcH ST P g8 ST A P e &4 U1 Jis 9o
3R &g a1 &1 JaP IR UM & I FF 1 gd9ts a7 Jfdraie o ¢a 82

1. Create Pivot tables / fUde ¢aeq BT fmtor
2. Create a data mart / ST A1 o1 AT
3. Create a data cube / SCT Hd Dl fmfor

4. Create a dimension table / @Eﬁm a9 o1 Ao

Correct Answer :-

« Create Pivot tables / fiide ¢aeg o1 fAmfor

19) What is the extension of a MS PowerPoint (ver. 2010) template file? /@quﬁ?'lﬁg? (2010 avh)

T BISd BT TRIC I T 82
1. .pott

2. .pptx

3. .potx
4. pptt

Correct Answer :-

e .potx

20) What feature enables drawing decorative text with graphical effects such as skewing, shadowing,
rotating, stretching in a variety of shapes and colors with three-dimensional effect in a MS — Word

document (Ver. 2007 onwards)? / THTH T8 (2007 3R 3P q1¢ & dui-l) A, TR B! bdd shaey
& GRT I oI {5 &R &1 faRsT B3, A8 W™ &1, gaT1, faftis srepfaat ofk il § v
&1, Pfatfia wu § yega #39 & fore ugad Wik w1 seamarg?

1. Font effects / TIUC g'aV_GE'



2. Smart Art / TS 3T
3. Clip Art / faerg 3
4. Word Art / I8 3¢

Correct Answer :-

« Word Art/ T8 3¢

21) What is the purpose of ‘Top 10 items’ under ‘Top/Bottom Rules’ of ‘Conditional Formatting’ menu
in MS Excel (version 2007 onwards)? / THEH T (2007 3T 3P 91 S qui-) A ‘Ha ¥
WA A & STU/aicH T’ & 3faiid 17 10 TFSH BT 35T 71 8?

1. It shows only the first 10 columns in the sheet / g e & Had 9YH 10 HIaH Bl gorfar %I
2. It shows only the top rows of the sheet / Ug e o1 Haq A dfgadl H Bl yefid W%I

3. It highlights top 10 items that are higher in value than the rest of the numeric values in the specified column /

g Ffde Hiawl & 3@ Al &I ga-T 8 bad Y 10 A $I g1 ¥@ifdhd dxal gl

4. Tt sorts the column’s numeric values in descending order / dg DiaH & DI HF] DI m@ FHHA IR

gl

Correct Answer :-

« [t highlights top 10 items that are higher in value than the rest of the numeric values in the specified column /

Tg Afdwe Hiadl & sfwtg Al &1 a1 § Bad Y 10 7FT &I &) ¥@ifed sxar gl

22) What is the purpose of ‘Orientation’ in the ‘Alignment’ group of Home tab in MS Excel?/ THTH
A §, W 39 F TArsTHe YU H SNNERTA #1 IR T EAT 82

1. It rotates text in a cell to vertical, text up or down. / g Pt Ta d cRe &I SR 31ydT i & HH d
Tqad B Gl ¢

2. It switches the rows and columns of the worksheet. / Jg Jh e & Ufdaal G‘ﬁT BIcTHl Bl 3{qdl-d Qﬂnl D
gl

3. It switches the rows and columns of a table or selected range./ g GlINEARIERESED] TI’&QTFT P! Ul
3R PIH! BT Sfaell-aael HR odl g

4. It changes the page layout from portrait to landscape. / g U9 & d-3113¢ Bl qﬁif‘c’ J dewhy # uRafdd
RIS

Correct Answer :-

 Ttrotates text in a cell to vertical, text up or down. / dg 3 T H TRe &l SR 31YaT i & HH A
I B AT B |



23) What is the purpose of menu item ‘Existing Connections’ in MS Excel? / THEZYH THRd & ﬁ"';[\ﬁ

R TR SR T T IS T BT 82

1. It lists the name of charts and graphs and the table from which the chart is derived. / dg 3 TTef 3R UTHY
3R TferepT B it ST & STeT § A1E Had: SHrfad giar g |

2. It lists the connection data files i.e., information string that defines how the excel should connect to an

external data source. / T8 AR Sl HIZd! &I et FIAT €, 31Td ZBIHA RN B Yellds Hdl §
S g 1T § [ Tod & Ha ot arer ST 4d ¥ SieT W

3. It highlights the cells or cell ranges that have been referenced from other workbooks or within the workbook.

/I8 IhgH & STla 37T frlt 3T adhgen! I Yalid ot S areh A rar ¥Si o1 Xaifard ol gl

4. It indicates the links of cells from one excel worksheet to another within the workbook. / g W i Th

TR GhRIC I Ydl & ! DI gERl JhRiTe § Ybfdd axar gl

Correct Answer :-

o [t lists the connection data files i.e., information string that defines how the excel should connect to an

external data source. / T8 HaRM ST HIZd! &I et FIT €, 3rTd ZHIHA RN B Yellds Hdl §
S g 1T § [ Tod & Ha ot arer Se7 4 ¥ SeT e

24) What are Notes in MS PowerPoint? / THTH uﬁw"ﬁz H m T %?
1. Notes are handed out to the audience as printouts / flicsmse & =u § g=id! & <t 1 areft faa=foreT

2. Notes are comments that are written by reviewer of the presentation / USICRH & gHilgreh g1 ferdt it
fewafora

3. Notes are footnotes and endnotes that appear at the end of the slide and presentation, respectively / TS

3R Uoie=M & ofd H e ol T FeAle 3R TeHle

4. Notes are speaker transcripts that are visible to the presenter, in the Presenter view during the slide show /

WSS T & SR TRgdddl & o W TRdadd! B! {3 Th a1d IGUINE & ey

Correct Answer :-

» Notes are speaker transcripts that are visible to the presenter, in the Presenter view during the slide show /

TS M & SR Tddhd! & o H TRgddwd! dl (48 Yoh aTdl SGuNS & Crish ey

25) In an Excel worksheet, how are rows and columns identified? / T TR Hﬂﬂﬂf o qﬁ Gﬁ?
PITH D U Y B Sl 82

1. Rows are identified by alphabets and columns by numbers / Ufa 1 JuiATa & SMUR R 3R B Bi
AT P YR R UG Iell o

2. Rows are identified by numbers and columns by alphabets / Ui &) =T & SMMYR W 3R B Bl
qUIATET 3 3TYR TR UE=HT ST €

3. Rows and columns are both identified by alphabets / Ufad 3R BiaH g ! JUfATAT & YR WR UgaT
SIS



4. Rows and columns are both identified by numbers / ufad 3R praq ?a:ﬁ PI ggdr &7 & AMYR R @T‘ﬁ

g

Correct Answer :-

» Rows are identified by numbers and columns by alphabets / Ufad o) W= & YR WR 3R HIaH Bl
JUIATET & SMYR TR UG 91l &

26) How are ‘Rules’ used in Mail Merge feature of MS Word (version 2007 onward)? / THUH CE (2007

3R ITF 91g F Toi) #, A 7l PR & o {69 UeR uged g &

1. To enable mail merge option in the Word document based on specific criteria / faRRy Argds R smefd CE)

SiagHc # Ad 7ol fddhed Bl 3Hed B & fog

2. To map custom fields to columns in the recipient list/ Tl il & HIcTH| H B HIcE & AU &
ferg

3. To choose recipients from different sources of recipient lists based on criteria / TGS 3T Ul ﬁ_tﬁ
o faf¥rsr 4l @ uTadepdist & a9 & fog

4. To send different content for recipients that satisfy specific criteria / o3t fafery ATes & s CEE K]
i dde DI Ul dab ol & fod

Correct Answer :-

» To send different content for recipients that satisfy specific criteria / fa ARy Aucs &t T P ard
i e Bl Urdehdl deb Ao & fog

27) How is a cell from a worksheet referred in another worksheet in an Excel document? / ToRT¢l

SiFgHic # TP Ad Bl TP ddhIe 4 gasl adhite H Ha Adehia frar smar -
1. Sheet 1, Row 1, Column 1 = ![Sheet 1]AA / ¥ffc 1, dfad 1, WY 1=![=fT 1] AA
2. Sheet 1, Row 1, Column 1 = {Sheet 1}&1A / R0C 1 Ufad 1, WH 1={RMC1}&1A
3. Sheet 1, Row 1, column 1 = &(Sheet 1)11 /2t 1, Ufad 1, U 1 = &( =t 1) 11

4. Sheet 1, Row 1, column 1 = ‘Sheet 1’!1A1/2fte 1, Ufad 1, TH 1=*Tftc*1A1

Correct Answer :-
« Sheet I, Row 1, column 1 = ‘Sheet 1’!1A1/T0e 1, Ufad 1, TH 1=*TMc*1A1

28) How is the Tracking feature of MS Word (all versions) used? / THEZH CE) ™~ f aﬁ'—n | ?%‘T R
BT IUANT {5 YR gHaT g2

1. Tracking is used to protect the document from editing by certain users / %%‘T BT TN 3 WQ'RT

Slergiic &1 ufsfen & QRen & Ry dare



2. Tracking is used to follow up on comments, insertion and deletions in the document / aﬁﬂ'{ BT ITINT
feuaforaT, Swoit 3iR oS Bl Sie # 8iaT 8

3. Tracking is used to check the document for grammatical errors and spelling mistakes / 2’%"[ BT IUTNT g1
3R ATBR O Yl Bl wie A gidr g

4. Tracking is used to Compare and Merge documents / E‘%‘T BT TN ﬁﬂ*{ﬁ?ﬂ Gl SNEl P 3R ITP!
MU Hoie H gl o

Correct Answer :-

» Tracking is used to follow up on comments, insertion and deletions in the document / Eﬁ?_ﬂ BT IUANT
feuaforay, Swoit 3Tk SromTSI 1 Sie # 81T 8

29) How is a macro created in MS Excel? / THTH qa'\ﬁ?r H Ol d9 fAfda E-I&"II %?

1. Macro is a Windows service created using software development tools / AP Uh ICEISESICES| % foraep1
fmfor iged? faswRid H3A o e & IUAIT gRT fhar ST 8

2. Macro is created by using a macro recorder / Ap! BT AT Bept RepTex & IUUNT gRT foba Srar 8
3. Macro is created as a web service/ Hebl @1 fAHf0T U 99 9d1 & =9 | giar %

4. Macro is created as a stored procedure from an Access database and referenced in Excel / Al o1 fAafor

Tegd § T 3o auT Hehifd @ WR &) E ufhar & wu d glare

Correct Answer :-

e Macro is created by using a macro recorder / A o1 AT A Repier & Iudim R foar Sar %

30) How is a formula entered in MS Excel? / THZH t{?\qﬁ s | ﬁ'é Th'l"i?lT P ufaee fHar s gevdr %?
1. By typing ‘@’ sign in the cell/ SEE] ‘@ fag sy CaCY

2. By typing ‘I’ sign in the cell/ ¥ H ¢ |” o8 TI3U b

3. By typing ‘=’ sign in the cell/ JdH = g eRu RS

4. By typing ‘&’ sign in the cell/ JaH & ﬁl%agqm

Correct Answer :-

» By typing ‘=’ sign in the cell/ A H = [ T8y Ixop

31) In MS Excel (version 2007 onwards), which of the sort options are not available? / THIH UdRIcl

(2007 3R 3P q1¢ & gui) A 9 & A FI9 T1 91 fapeq Hivlg =81 872
1. Put selected cell colour on top / Tafad T 9 o D R oz
2. Put selected text orientation on top / Gd CRE 3‘-|||§Q' o &I 2 O @



3. Put selected font colour on top / afd T Bioe @l =Y IR =T

4. Sort ‘Largest to Smallest’ and ‘Smallest to Largest’/ AToRe < TR 3R WTeRE < drore” faswey

Correct Answer :-

o Put selected text orientation on top / TYd cRE aill?q' o & 2 oR a

32) In MS Word (version 2007 and above), which of the following is NOT a valid data source for
obtaining the recipients list? / THTH I8 (2007 3R ITP q1¢ & aui-) |, Ao § & w1 yreaeal gt
T A P forg aer 31 4id 781 32

1. MS Access / THUY TR

2. MS Word / THUH 98

3. MS Excel / UHUYH U

4. MS PowerPoint / THUYH tIV'IT?ITCIVET:'

Correct Answer :-

e MS PowerPoint / THEIH tIV'IT:ITCIV'IE_Cr

33) In MS Word (version 2007 onwards), how to show the same document in 2 windows to work
simultaneously in different places at the same time? / THEYH Is (2007 3R TP diq & avh) ﬁ, E?f
STT-SMET AT UR TH gt THT W HTd 1 & fore U €1 sigdic 1 ol f[isiv # fvw uar a=itar
Tl 32

1. Arrange All/ IR 3T

2. Multiple Pages / A Igd Ul
3. New Window / q%@ﬁ

4. Split Windows / IRNEE]S

Correct Answer :-

» New Window / q%@ﬁ

34) In MS Word (version 2007 onwards), how to control alignment of a decimal number, such that the
decimal points of all numbers arranged one below the other are aligned to the location that is set in the

ruler? / THTH T3 (2007 3R I d1¢ $ o) H, TAAT JBT F TATSAHC &) f5y yapR FHeifia
%ma%ﬁsqwﬂmsﬁﬂsmwasﬁmﬁwmﬁsﬁvwﬁﬁem%wu
qdig-s &l?

1. Provide decimal Tab Stop before typing the numbers / ST Y H I Jd GRHAT <& T T HAT

2. Provide center indent before typing the numbers / WTQ EEL CRCE: tj\_qc e 5*\%«1 Yald Dl



3. Provide center alignment for the selected numbers / Idde B Tl's“ T3 B 1%111 Tdex QC’H%"IEI'C Uald bl

4. Provide a text box with centered option for the numbers / TRemafi & for e 3w & 1Y e diaq
PHEKCEGI

Correct Answer :-

« Provide decimal Tab Stop before typing the numbers / TREATY TTZY HR- ¥ Yd GIAAT ¢§ LI UM HRAl

35) In MS Word (version 2007 onwards), which of the following views show just text in the document
and is useful for editing as headers and footers will not be displayed in that view? / THUH CE) (2007 3R
ISP 91¢ S qui-l) A 1 § § $I7 91 o STagic A Fad TR 3! guial g 3R eisfen@ureT &
SUIRT ghar § Fifes 39 o H gsd 3R Hed fewa 781 g2

1. Outline View / T3

2. Draft View / QIUC o
3. Print Layout / fiic qamse

4. Web Layout / I T3T3TC

Correct Answer :-

e Draft View / gIUC

36) In MS Word (all versions), what is defined as a reference note that credits a source of information
such as book, journal, etc., in a particular format and style? / THIH as m‘l-ﬁ aﬁ'—n ﬁ, ot wr BTHC
1 et § forar g YWY Ale 5l fordt o a1 ufieT & 4d &t TSR a1 8, T Heard 82

1. Citation / HI%%QFT
2. Comment / HHE
3. Endnote / T&HIC
4. Footnote / W_C'

Correct Answer :-

e Citation / FII%%EZH

37) In MS Word (all versions), which one of the following statements describes a footnote? / THUTH CES

@ ol ¥, e A @ 19 91 HY= FeAle o uRyia sare?
1. Comments by reviewers / A& ot fewforat
2. Contents written in the footer section / P& HIT o forat §§ et

3. Notes at the end of the document / Wﬁ'ﬂ & 3id § fora Y :ﬁf\ﬂ



4. Notes at the bottom of the page / U o - ford Y '_'nEH

Correct Answer :-

« Notes at the bottom of the page / U9 & i ford Y :hfﬁ

38) In MS Word (all versions), how is the page layout changed from Portrait to Landscape? / THIH CES

@i gt ¥, 9 A3nSe ol Uide 9§ dswhy A ¥ iy yoR ufvafda fear smar 82

1. Select ‘Orientation” in ‘Page Layout’ and change to preferred layout / TS d-3M3e” H <3fues T fawed
BT T B (YR d-313¢ & uRafdd s

2. Change ‘Size’ under ‘Page Layout’ from A4 to A3/ U -3 & gy’ fahed T A4 THR & U DI
A3 T 9GaT

3. Create a text box with required size/ AU PR H1 UH TRe q[dY TR

4. Increase margins of the document from ‘Margins’ of ‘Page Layout’/ Ul A-3MT3” & Ao fawea

Slagrc & HIfoH &I ST

Correct Answer :-

» Select ‘Orientation’ in ‘Page Layout’ and change to preferred layout / TS d-3M3¢ | ‘34”?@ ce fasweg
BT I b FYIRd d-3r3e # uRafdd w1

39) In MS Excel charts and graphs, where can a user set data source, legend entries and data series? /

wwa@@mﬁ,wwhﬁ,m@méﬂﬁaﬁﬁwﬁfﬁm

1. Source table or data cell range / I 29 3ryar SeT A I o
2. Worksheet properties / g gradia o
3. Format Chart Area / TPTHC dTE grar o

4. ‘Select data’ option / oide ser fawe

Correct Answer :-

« “Select data’ option / ‘Tcide Sel’ faweq H

40) In MS Excel, which one of the following ways does NOT insert multiple columns? / THUH Tl ﬁ:,

PS DI THITY SIS & forg B AT d3BT A8 U= ST 82



Select the number of columns that needs o be Inseried,
= Choose ‘Columns’ in the ‘lnsert’ tab

J Fora=r Sl e SIS & 390! Helde il
> EHC ST Y HAN F I

Select the number of columns that needs o be inseried,
= Press ‘Ctrl+

/ TSt HlelH S5 & Ioichl Yolde il
= ctri+ g dl=AT

Select the number of columns that needs o be inseried,
= Choose ‘Insert Sheet Rows' from the ‘Cells’ group of the ‘Home' tab

J FSra=t SletdH S5 £ 36! Helge il
S B ¢a & Yo AU A S e 2T Var &l TAA BT

Select the number of columns that needs to be inseried,
= Right click and select insert

/ FoTc=! Tl cTH ST & 3a7ah! Tolde hlam
S 1se ol & Sodc & 9aT

Correct Answer :-

Select the number of columns that needs o be Inseried,
= Choose ‘Columns’ in the ‘lnsert’ tab

J Tt Slel# SIS £ 3aTch! Telde il
2> THC S H HAN HI I

41) In MS PowerPoint, which view displays the entire presentation as thumbnails, so that the presenter

can re-arrange and organise them? / @wmﬁﬁqﬁﬁm%ﬁ@uﬁaﬁmm
TR0 B Hau § welia fear wimar & R 98 3= 17: wefia ik welkfa s a2

1. Outline View / 33 Ccllgd &
2. Reading View / Jfe g
3. Notes Page View / '_'hw U] g



4. Slide Sorter View / W3S Ticx g

Correct Answer :-

« Slide Sorter View / TS S Wiex .

42) In MS Word, what is a Table of Figures? / THZH 938 § 29d 3T BRR® T %?

1. It is the table of titles and headers of each section. / U HIT &b W GhT %?;ﬁaﬁ NINE

2. It is the table of all figures which have been captioned in the document. / ?ﬁﬂ{ﬁ? T gy T ot fol
drferept

3. It is the table of all references cited in the document. / Si’aqﬁ'c’ 7 fou Ut gl @ arfereT
4. It is the table of all bookmarks in the document. / SIFIHE o TH! FHATE D1 Tferan]

Correct Answer :-

« It is the table of all figures which have been captioned in the document. / ﬁa@? T guife Tu guft o ot
GUNERS

43) A macro-enabled document template is stored in format. / Yh e Eﬁaﬁ'{ g‘mﬁf
SHTIe Bi wife A ©R fearwmar 3|

1. *.dotx
2. *.dotm
3. *.docx

4, * docm

Correct Answer :-

44) tool ensures that the presenter is able to match his or her narration with the slide timings
during a slide show of an MS PowerPoint presentation, by recording the time needed for each slide. /

_ Fa gy s & fh uegdedl THEY Ufaruige $1 ufarRuige WRgfaeRul & SR Td®
mﬁ%ﬁmmwaﬂﬁ%ﬂ%mmﬁmaﬁwaﬂmﬁﬂﬁﬁmmﬁﬁ
e gl

1. Rehearse Timings / e ergfi
2. Transition Duration / EA'I T 3§§Q|:1
3. Setup Slide show / ¥e-3U WZS W

4. Slider Timings / TSR TR



Correct Answer :-

e Rehearse Timings / ﬁ_&'ﬁ c sltl"l

45) In the ‘Number’ group of the ‘Home’ tab in MS Excel (version 2007 onwards), what does ‘Percent

Symbol’ menu do? / THEIYH TaA (2007 ﬁmm%mﬁ‘ﬁﬁ’éﬂ%‘qm’gqﬁ%ﬁ%ﬁ%
BT T ST gl 82

1. Calculates the percentage as a difference between 2 numbers stored in 2 columns, divides the result by the

denominator in the 1% column and multiplies by 100 / &l HiaH T fRYd &l TeAT3f & SR & Ufa=rd &1
UM &Rl § 3R U UROTH B UYH HIH & 82 HFT BT § 3R 100 F 0T R <al §

2. Multiplies the existing cell value by 100 and displays the result with a percent symbol / Ug ﬁT{T@T Il &
TREAT BT 100 T O HReb YRUIH BT % b I P 1Y TefRid e g

3. Displays the percentage symbol in charts and graphs / e AR IHG H % & frg Pl Qaﬁh hdl %I

4. Displays the cell value with a percentage symbol / A & A DI % o (I8 &A1Y T fRfd Rl % I

Correct Answer :-

« Multiplies the existing cell value by 100 and displays the result with a percent symbol / g ﬁTYET Il Bt
TS BT 100 Y 0T HReb TRUTH DY % b e P 1Y TefRid s g

46) How should an MS PowerPoint presentation be customised to change slide order or show only
specific slides for specific audiences? / THTH UlaRUISC Ul e=H &1 IS & HH B! aa?ﬁ g1 fafRree
=il 3t aa gfier falkie wgsd oM & e 37 sxeursss fHar amr @ifge?

1. New sections should be created for each slide show / UH RNIES] WeH ﬁm T YT T ST T"lT%Q
2. Custom slide show option should be used / H¥cH WSS M [ddhed BT IGINT fdhdT SIHT AT
3. New views should be created for different audiences / F=1-f= g=ie! & forg = &g fAfHd forg I =nfew

4. Different presentations should be created, and the common slides should be copied / -1 TsfeR™
AT foru o =R, SR Sraf s Wiss HId &1 S anfey

Correct Answer :-

o Custom slide show option should be used / PICH KIS S M fIH g BT IGANT fHaT1 S Em%'q

47) How can non-unique rows be eliminated from tables in MS Excel (version 2007 onwards)? / THEZH
THD (2007 3R TG & qoi) ¥, a1fereT & rfafree ufdaal ot # gerdn o1 aodT 82
1. ‘Group/Ungroup’ data / S @l GU/HTYw PP

Ve N\

2. ‘Consolidate’ summarised data to another table / H@Wéﬂﬁw §Ei| dli.acbl ff “Dhylielac’ Obﬁab

3. Use ‘Advanced Filter’ / ‘TSI ftheey’ & SUANT gRT



4. Use ‘Remove duplicates’ option in Data tools /@ETQT’['E[ ‘ﬁ'&a §'|Q18pc\{-|’ fddhed & IUANT gRI

Correct Answer :-

« Use ‘Remove duplicates’ option in Data tools / Sal cd | ‘ﬁﬁ[ﬁ _g"m’ fddhed o ITART gRT

48) Which of the following statement is TRUE about Freeze/Unfreeze panes in MS Excel

(version 2007 onwards)? / THUH THA(2007 3R 3P 91¢ & qui) H Wi/ WIS U9 & IR d
e d A PF I Y A 72

1. To freeze more than one row and column, select the rows and the columns simultaneously and click on

‘Freeze panes’ option. / T T 3{f¥eh UfaT 1 HTH P! Aice B b foTT Ul 3R HicTH &l ThaTy
Jode FRop Wil U fddbed R fadd o1 A1fgu|

2. ‘Freeze first column’ option used along with the ‘Freeze top row’ locks both the top row and the first
[} (o] A4 [aY v o\ Y ~\ .
column. / “ThTol THRE HiaH’ SR Thiet 1Y R fadhed Bl Thay TRIad H-- WR g XY ufda ik o
HIAH DI Al PR &l 5

3. ‘Freeze top row’ menu locks the topmost row, but unfreezes when ‘Freeze first column’ is clicked. / TIsl

21T 3 B 2 i ) difep R a1 B Afb T B Bl bl fokiep R R T8 31 81 ST 2 |

4. Freeze/unfreeze option works independently in all 4 windows of a ‘Split” worksheet. / ThIel/3hTSl fddhed
fere ad=ic o quft 4 [ ¥ god &0 Q S axar g

Correct Answer :-

» ‘Freeze top row’ menu locks the topmost row, but unfreezes when ‘Freeze first column’ is clicked. / TIel

21T 3 B 2 Ui ) dfep R a1 B A T B B bl foiep R TR T8 SFIBI 81 STl 2 |

49) Which one of the following methods CANNOT be used to enter data in a cell? / Jd o SaT
gfate #ea & o A A ¥ o9 @ fafy s o 78 ars o 9ot @2

1. Press ‘Arrow’ to move to left, right, up or bottom cells / T:("I'a, 91, JHUR AT CECIR N I KD ﬁm ‘@’
DI G

2. Press ‘Shift’ to move to previous column / PEREIREEIEE] ﬁ‘l’Q R Fea &l FEIGI
3. Press “Tab’ to move to next column / 37T HIAH H Wﬁ%ﬁlﬂ T A B! FEIGH
4, Press ‘Enter’ to move to next row / &Pﬁﬁqﬁﬁﬁﬁ%m FeY dcA GaM

Correct Answer :-

 Press ‘Shift’ to move to previous column / PENEIREEIEE] %I'Q fRIve’ g &I a1

50) How to create Newsletter columns in MS Word (version 2007 onwards)? / THTH TS

(2007 3R 3TN M F goi) H YoideR HIad »A 91 1 82

1. Add 2 text boxes side by side and hide the margins / T T 3 TRE T STSHR 3R IR B! FUIHT




2. Select the text and choose ‘Column’ option in ‘Page Setup’ group of ‘Page Layout’ tab / TRE DI oI HIh
U A3MIT’ ¢ & USRI Y9 I ‘HIa’ f[ddhed &1 999 I

3. Select the text and choose ‘Column’ option in ‘Paragraph’ group of ‘Home’ tab / CRC B! Jalde TR ‘E?IT[’ G|

& WRUTE” JU F “HIew fAdhed &1 999 b

4. Create a table with columns and hide the borders / PR o 1Y Th oI SR D e bl fHed

Correct Answer :-

e Select the text and choose ‘Column’ option in ‘Page Setup’ group of ‘Page Layout’ tab / TRC P! JdaE PP
U A3MIT’ ¢ & USRI’ Y4 I ‘HIad’ f[ddwed &1 999 I

Topic:- Internet and Web Page Designing

1) Which one of the following error codes indicates “Internal Server Error - The request was not

completed. The server met an unexpected condition.” / fada Cack: | aﬁ' PIs e E'EZ'I'TT'IT % &
“ TP FAX THRAT-HAR T 1= FRAITAAT & FROT ST SRIY T 181 fobar Tam |

1. HTTP 504
2. HTTP 500
3. HTTP 403

4. HTTP 501

Correct Answer :-

« HTTP 500

2) Which one of the following HTTP requests is used to retrieve meta-information without the response
body, particularly to check if a URL is serviceable or if a file exists? / ﬁ'ﬂ k) Cac ot Udh HTTP frpe
o YT STt & Ael-3-wraRH #Y -1 & e ygad gt 2, [y U @ 98 3% o & g
& &1 URL Afdw T @ Sruar 1T e ST a A @2

1. PUT
2. POST
3. HEAD

4. GET

Correct Answer :-
« HEAD

3) Which one of the following is a new HTMLS5 element? / A I s U —ITHTMLS5 wﬁf %?



1. <menuitem>-Defines a command/menu item that the user can invoke from a popup menu / <menuitem>- 34

HUS/A B! TRUTT BT & o SUTNT YTerdT Gid-3T B o 1Y R Thdl §
2. <ul> - Defines an unordered list / <ul>- U ehH T%?l Fjﬁ P gRHTNT HRar %
3. <nav> - Defines a container for navigation links / <nav>- #ﬁﬂm ﬁﬁ?f $ f%l'q EI?_E:R Eblf TRHTT ol %
4. %span>—Deﬁnes a section in a document (inline) / <span>—3=|J31‘Iﬁ_C' (inline) & U YR &I GRHTT BT

Correct Answer :-

« <menuitem>-Defines a command/menu item that the user can invoke from a popup menu / <menuitem>- 3

HHS/A B! URHTT BT g T ST YaiadT UTg-3(U A & 1Y o Gobdl §

4) Which one of the following statements is TRUE about CSS? / CSS & R # g # @ &1 A1 &y
T4 8?2

1. CSS is cached style sheets. / CSS s TIsd e gl

2. CSS contains the data that is to be displayed in the web page. / CSS T 99 US R Y Rid foar o1 ara Set

BT g

3. CSS does not work with any other markup language except HTML. / CSS HTML Pl Esls R fodt 3=

HIH3IT HINT P 1Y DT T ST B |

4. CSS rule-set consists of a selector and a declaration block. The selector points to the HTML element, and
declaration block contains the property name and value. / CSS Fa-dcH Udh JolaeR 3R Uh EENECE
i GBI § | Yeldex HTML THTHE &1 Ul e R § 3R fSHRRRH i # Uioe 71 SR 7 g1 § |

Correct Answer :-

e CSS rule-set consists of a selector and a declaration block. The selector points to the HTML element, and
declaration block contains the property name and value. / CSS Fa-dc U JoaeR 3R Udh EENECE
&1 BIdl ¢ | YaIdex HTML TaTHC Pl Uige BT & 3R SRR sdiid | U] 49 iR A1 81d & |

5) In HTML,<col> is a tag. / HTML ¥ <col> U% k]
1. Formatting / BT

2. Table / C8Q

3. Frame / TPH

4. List / fere

Correct Answer :-

« Table/dd



6) is a unique logical address consisting of a network component and a host component,

assigned to a machine over the network. / fredt Acad wR Bt w=fia &) endfed Acad
TP YT TRE UeH $ U § U g aiforpe Tod ¢

1. Absolute URL / 3SHIIE JHRTA

2. IP Address / 3% U1 T34
3. Domain Name / S1H- =H
4. Relative URL / Raifcd gaRua

Correct Answer :-

« IP Address / 3% Ut @ﬂ

7) is a standard protocol for accessing e-mail from the local server by receiving and holding it
in the Internet server till it is requested to be downloaded. This protocol allows simultaneous access by

multiple e-mail clients and usually uses port143./ U® wss tﬁﬁm% foraw fesdt wita
TR | U fft At @Y sevie G § q9 99 T o1d 8 o« 9 8 B AdIgds SISTAIS 781
mlwmﬁmgaﬁwﬁﬁmeTWﬁﬁﬁmﬁmméaﬁvw 1430
P IUART FHRaT g

1. Post Office Protocol 3 (POP3) / URE 3{ITthd WEldhId 3 (POP 3)
2. Simple Mail Transfer Protocol (SMTP) / Riua od ‘g"mw I (SMTP)

3. HyperText Transfer Protocol (HTTP) / BIUX TRE E\W PIECI] (HTTP)
4. Internet Message Access Protocol (IMAP) / 33?313 BRc) Qﬂ@ﬂ PICEL] (IMAP)

Correct Answer :-

» Internet Message Access Protocol (IMAP) / 3'32313 S QERﬁW PICEALS] (IMAP)

8) is a broadband internet access that uses coaxial cable which is capable of transferring

data at much higher speed than common telephone line. / Udh Sieds Rﬁf Qﬂ'\qﬂ % foraw
éawgmm;mﬁmrwmmﬁ%mmmmﬁmmﬁmmm

1. Cellular Internet connection / m geAC HRMA

2. Satellite Internet Service /@%Fﬂ%?:’ 3?@3 gfdg
3. Cable Internet Connection / HET 3?@3 HAIH

ON ON

4. Digital Subscriber Line / IS[SICe] T PSR S

Correct Answer :-

« Cable Internet Connection / & 3?@3 HAIH



9) is a computer program or software agent that receives e-mail messages from an e-mail
client and cooperates with a mail relay for delivery of the mail. / W TITH 3yaT
WA Toie ¢ ol U Al Feise A $-3d A8 UTw $eaT @ 3R fa 31 f3feradl & fow da e &
1Y PI-3HTURe BT 7 |

1. Mail Submission Agent (MSA) / Td Qo= Q@LC'(MSA)
2. Mail User Agent (MUA) / Bd goR TSIc(MUA)
3. Message Transfer Agent (MTA) / BRI E’Iﬂ'qv_{ QQ_C’ (MTA)

4. Message Delivery Agent (MDA) / B f3ferad} toiec(MDA)

Correct Answer :-

« Mail Submission Agent (MSA) / Id TfSHRH Tola(MSA)

10) is a cross-platform Java compliant web server designed for medium and large
business applications, and was previously called Sun Java System Web Server. / Hegw 3R

T2 RIS AR & e fEwms frar T $1a-wew i wrar $ifkate a9 9 8, P tga
T STaT e 39 [dR H8T STt ATl

1. Google Web Server / I[ITc 9 gav¥

2. Apache HTTP Server / 30Tl HTTP JaR

3. Internet Information Server / 33@3 _S’:CI'T\IﬁQT:[ o

4. Oracle iPlanet Web Server / 3R d &n's‘-téﬁc CERSCD

Correct Answer :-

« Oracle iPlanet Web Server / 3R d M-ﬁﬁfaﬁﬂa&

Topic:- Programming Language

1) A user defined data type in C which is mainly used to assign names to integral constants to make a

program easy to read and maintain is called ./C ﬁww%tm%%amﬁ'ﬂmg@
U A ST TS WIITH B U YT SRE0T § T 991 & fore quifes fRRiw! 3t 7 ardfed
B¢ ¥ e fpar wmar 2, HEATaT 8|

1. Enum / QdH
2. Typedef/ TRUSH

3. Structure / IR

4. Union / ?Iﬁ'q:l



Correct Answer :-

e Enum/UTdH

2) Which of the following is a control statement that allows a variable to be tested for equality against a
series of different cases and changes control of execution more efficiently? A=k K| TP

weHe @ Ha® ez HI I1 ¢ o et IRTaaEr) # = Fof 9 D & fovg guaar &
m?mﬁﬁgﬁmmm%ammﬁ%@aaﬁmwa?mum
BT 32

1. Switch ... Case statement
2. While loop
3. Do .... While loop

4, If... else statement

Correct Answer :-
e Switch ... Case statement

3) Which of the following is a logical operator that returns a Boolean value true if both the operands are

non-zero? / 4fe Y ATRT YR TEY & ) Fr & @ 1 A1 difvrepd ifwe” 9 gfera= A a1 82
1. 4=
5 —
3. 5>

4. &&

Correct Answer :-
o« &&

4) Which of the following is used to write a character into a file? / et Bwigd ﬁaﬁ% &R &
o e o & fraeT Sy farar smar 82

1. Putchar()
2. Puts()
3. Putc()

4. Fputs()

Correct Answer :-



e Putc()

5) Which of the following is TRUE for malloc()? / a3 malloc() P IR H B AT HYT I %?

1. Malloc() deallocates the old objects and returns pointer to new object / Malloc() QTI:F[ aﬁ\’rﬁ Pl f&dide
PRAT & 3R UTEeR B T axg B 3R dlerar g

2. Malloc() takes 2 arguments — Number of blocks to be allocated and size of blocks / Malloc() al &ﬂ"@m
QAT © — Taldbe b S aTel scilor b1 EReAT qUT el BT SHTHR

3. Malloc() does not initialise the memory and contains garbage values / Malloc() AR Bl 2 ﬁl?zlaalsa :|—E>p[

4. Malloc() does not return any value after successful initialisation / Malloc() d%h <l 3'31 A 3@1 T & g
A A .
P13 Iog dT0Y -Te] Bl &

Correct Answer :-

» Malloc() does not initialise the memory and contains garbage values / Malloc() AR Bl 2 ﬁl?zlaalsa :|—E>p[

6) Which of the following is a file handling function which is used to find the end of file? Aeekkkac

1 HaRH et wiga & oid # ugen & fore swauTa fvan S aren wisa gsfenT varH 82
1. fseek()

2. remove()

3. fflush()

4. feof()

Correct Answer :-

» feof()

7) What happens during the pre-processing phase in a build process of a source code (<filename>.c) file?

/Al Big (<filename>.c) WIS F foes T A U9 B & a?'l:[ T ﬁ?ﬂ %?

1. Pre-processing removes comments and expands header files and macros. / T-OraRT $f|'€ﬁ:| P fFreT ot %
-~ ENERY o
3i oS higcd 3‘| X HD[G BT [dEIR HR a(_‘“ %l

2. Pre-processing links function calls with their definitions. / U-araRiT fefad thaRr o=t afvymesif & Iy
Hicl PRAT 5|

3. Code is converted to assembly language. / PIS DISARUT HIST H FYTdiRd 8l Sl % |
4. There is no pre-processing stage. / éﬂﬁ ﬁg Ui :|3°r Ewpl?ﬁ [

Correct Answer :-



e Pre-processing removes comments and expands header files and macros. / oA Eb_ﬁlw S eI s
3R TSR BIsed 3R HehIol BT fawdR AR &ell 3 |

8) Memory allocation function that is used to allocate multiple blocks of memory, initialised to zero,
during runtime pointing to the first byte of allocated memory is called ./ 98 TRy Q?ham'ﬁ
e Rr®T STENT ez H ¥ R I & sFiRruasse, 39 & ofe <if®! &) Talde o
& forg forar wTdT 8, Wt Teldrcs AHN & B d15c &I Uise Hedl g, CaSSIGI

1. Malloc()
2. Realloc()
3. Calloc()

4. Dealloc()

Correct Answer :-
e Calloc()

9) A variable defined within a function or block belongs to storage class if no storage class is
mentioned. The scope is local and life is within the function only. / gfe forelt weie TN 3T 3o T8l
& o frelt emm a1 sTe & fiaR uRvuTfa Ifveaa R FIH | Yafd a1 31 ¥iy
P d gidT & 3R A5 $ad harHE P Hiaw gidl 81

1. External / Wﬁﬂ

2. Automatic / 3fICIHICH
3. Static / Rfe®

4. Register/?ﬁrlw

Correct Answer :-

« Automatic / 3{lcIAfeH

10) A variable whose value is the address of another variable, i.e., direct address of the memory location

is called a /Wﬁwaﬁ@ﬁﬁﬂmnﬁwwaﬁmﬁ@ﬁm% IR &
g, A9 AP T STREE TRH (WIS ), Feaasg |

1. Pointer / q”s’az
2. Double Pointer / S T E.EQ
3. Parameter / awﬂa

4. Addressof/ Q@ﬂ&r”rq?

Correct Answer :-



e Pointer/ qus' X



